RBAEFTILR110 FBU—Y D

1a—Fp HEIEF @2—3 @1—-3 @1—-2

A JOvy 1 2 3 =R B 13z
=% 5% (VIN-TAGE) 2-0 2-0 4 1
EE-28 (HEVSD) 0-2 2-0 3 2
WE- L0 (FKRFI37) 0-2 0-2 2 3
23—k HEIEF @2—3 @1—-3 @1—-2

B JAavy 1 2 3 E3=1 =L
I -Bfh (F—L52) 2-0 2-0 4 1
&' (GERYSD) 0-2 2-0 3 2
BH-F&E (OKY37) 0-2 0-2 2 3
3a—hk HEIEF @2—3 @1—-3 @1—-2

c Joyy 1 2 3 E=1 JIE 32
=i (VIN-TAGE) 1-2 2-0 3 2
=B-5H (HEJ37) 2-1 2-0 4 1
Hil-E (FREFISD) 0-2 0-2 2 3
43—k AEIEF ©®2—-8 @1—-3 @1—-2

D Jovs 1 2 3 S3= JIE 5z
frf T A —(EEHOSTD
R 128 (BERERIFD) 1-2 1 2
4K\ (VIN-TAGE) 2-1 2 1
50— HEIEF @2—3 @1—-3 @1—-2

E JOoyy 1 2 3 E3=] I 152
E-FHF (FHERVR) 2-0 2-0 4 1
mi- iR (LFiR46) 0-2 2-0 3 2
- EH (FREFI3D) 0-2 0-2 2 3
61—k HEIEF @2—3 @1—-3 @1—-2

F Jayy 1 2 3 3= NI 32
)1 - L (FINY37) 2-0 2-0 4 1
ZAMIE (FHERVER)| 0-2 2-0 3 2
He-5H (F—L52) 0-2 0-2 2 3




BEFTILR110 FBY—Y 2

73—k HEIEF @2—3 @1—-3 @1—-2
G Jowvs 1 2 3 (== =0
1 [RA-HAR (L(FiR46) 2-0 2-0 4 1
2 |HE-ZEH (ZENYF7T) 0-2 2-0 3 2
3 |&R-AR (FEHISD) 0-2 0-2 2 1
81—k HEIEF D2—3 @1—3 @1—2
H J8vy 1 2 3 TR I iz
1 |fEE-FLU (FHERVR) 1-2 1 2
2 |BEF-AE (XS 2-1 2 1
3 EE= — )
93—k HEIEF D2—3 @1—3 @1—2
I Javy 1 2 3 =31 =0
1 [f&EEE-84R8 (ENIYST) 2-0 2-0 4 1
2 ARE-AIR (FHERVR) 0-2 2-1 3 2
3 | - A (VIN-TAGE) 0-2 1-2 2 3
BESTILR120 B8-S
100—Fk HEIEF D1—4 @2—3 @1—-3 @2—4 ®1—2 ®3—4
A Tays 1 2 3 4 TR | B
1T | ER-BR EN-58937) 2-0 2-0 2-0 6 1
2 |FLU-ME (FRERVER) 0-2 2-1 2-0 5 2
3 [EA-Hft (EHERER) 0-2 1-2 2-1 4 3
4 [INMI=NI (ETHIST) 0-2 0-2 1-2 3 4
11a—k HEIEF @®2—3 @1—-3 @1—-2
B JOowvy 1 2 3 TR JIE 3z
1| E-EE (KE) 1-2 2-1 3 2
2 KA-E&/IN (#FLoP) 2-1 2-1 4 1
3 |fEE- LK (CEHERE) 1-2 1-2 2 3
12a—k HEIEF @D2—3 @1—3 @1—2
c Jaovy 1 2 3 =3= & 152
1| KiR-= 4 (FLoo) 0-2 0-2 2 3
2 |lUAR-ER (BWEYF7) 2-0 2-1 4 1
3 |MEFE-ElE (HEBEIZT)| 2-0 1-2 3 2




BEYTNLR110

REEb—F AV b

=5 - 55 =& -EM
1 A-1 c-1 10
(VIN-TAGE) (HEHS S D)
1 + —
e EET’ *ﬁlll " IJ-I*E
:II 2 B-2 # E-2 11
L (HEEY S D) . (LMK 4 6)
H
=i - ikt e feE - &
3 c-2 — H-2 12
(VIN-TAGE) T (FHERVR)
ik - B4R L =R
4 1-1 g F-1 13
g EFNLEP) < EINLEP)
L FFt - NE WA - AR
5 H-1 G-1 14
(kL) 1-2 (LMK 4 6)
M- & A - AR
6 E-1 I1-2 15
3 (FESK R (FEEAR)
L HIE - Bl Bk - IEs
7 G-2 D-2 16
ENY S5 I) (HEEY S D)
ZA% - JIlTE ek - 2H
8 F-2 A-2 17
; (EEERLL) CELED)
|
" L% - E@| \Lif% - Eh
9 D-1 B-1 18
(VIN-TAGE) (F—L52)




T —U ©

T —lo-—

10 B-1

BEFTILR120 REsk—F A

Rig- 2B A L2D) —

INI-IMNIET[YST) ———

EHA-BHF CEHERR)

Hyim - 1E 2 (EKR)

WA -ER(HEISD)

HZL-ME(FRERVR)

VN Rk 5
(EKZ)

HEE-AREARESSD)

fEB-IURCERERR)

KEA-RBNGLOD)




T —lU w =

T —Us>=

BAFETNZ130 FEY—

14z2—}h HEIEF D1—4 @2—3 @1—3 @2—4 ®1—2 ®3—4
A JOvy 2 3 4 (Eg=1 [[=tiva
I AR A A = WATANABE)
2 |BEA-EA  (FEEHZ—D) 1-2 2-0 3 2
3 |AE-KE (R2AIL) 2-1 2-0 4 1
4 Bk B (FREISD) 0-2 0-2 2 3
a—Fk HEIEF D2—3 @1—3 @1—2
B JAwvy 1 2 3 Eg=l JIE {3z
1 |- BR (FHREX) 2-0 2-0 4 1
2 [ - & (FEHZ—D) 0-2 2-1 3 2
3 [RRIR-f8R (R<AIL) 0-2 1-2 2 3
a—Fk HEIEFE D2—3 @1—3 @1—2
Cc 7ovy 1 2 3 Ed=l [[=Fiva
1 |BI-BiIL (RIAIL) 0-2 2-0 3 2
2 |AAE-5HE (BEHSD) 2-0 2-0 4 1
3 |RE-RE (8EH7D) 0-2 0-2 2 3
EBAF T NVA130 BBEN—FAF
1 A-1 ARE-KEZFEXRTAIL) 2
2
2 C-3 RE-REEHEEHFD)
0
3 A4
4 A-3 ERE-EREEREYST) ¥
0 —
5 B2 #M-HEEAS—D) H A
E=H
2 7 .
6 c-1 HE-SE(HESSD) 79
2 7 [
7 A2 BAO-3EME(FEEAS—) 0 -
§ C-2 BRI (XZAIL) 2 ,
9 B-3 fmE-EERE(RIIIL) 1
0
10 B-1 Jti-RIR(EFHER)




BA¥ 7 NVA140

T®’)—7

133—F HEIEF @2—3 @1—-3 @1—-2
A JOwvy 1 2 3 TR JIE 3z
1 (BA-BF (FHEX) 2-0 2-1 4 1
2 |MAE-EEE (KEZ>—Y) 0-2 1-2 2 3
3 |LUAR-TR CEHERR) 1-2 2-1 3 2
a—Fk HEIEF ©2—-3 @1-3 @1-2
B JOwvy 1 2 3 TR JIE 152
1 |ER-BE(BEBERAEIST) 0-2 1-2 2 3
2 |RERA-IMR (KBZ—Y) 2-0 0-2 3 2
3 |AR-mi% (FHEX)) 2-1 2-0 4 1
a—Fk HEIEF ©2—3 @1—-3 @1-2
c Javy 1 2 3 TR JIE 152
1 |EH-BH (FHEX) 2-1 2-1 4 1
2 M -HI[R CEHERSR) 1-2 0-2 2 3
3 (@ -thiE (REHVTD) 1-2 2-0 3 2

T —U ==

T —Ur~ =

BAEE 7T /VA140 HBEN—F A b

4B (FHEX)

m-EIRCEHERR)
- RE(EAREISD)

NS Bl (KE>—Y)

b
\J

Y INR(REZ—Y)

-EH(FHEXR)

illie
H

WA RRCEHERR)
ff - thiE (REH57)

ARE-EE(TFHER)

2

)

HH - H

-
[~|

(M HH




